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Will be zero | REmaing ““ Decreaies Increases | Ifthe current in a wire which is placed dicular to a
[} IeE— _|magnetic field increases, the force on the wire: =
153 131 12 17 G S| 2
B ) An energy-saver light bulb wses energy:
L v o Ve | £ N § LMJﬂffJJ 3
)% L _— Capacince is defincd as: i
| Raadie | Somdir | Bnadt | Sumdi | el NS ‘e kB UL A | 4
Urari phit ‘ Uprightand | Inwverted and veried and-) Which Ty Eyﬂf;; is formed by a convex lens an a
. sl wirlusl real -] mem? ,
Hafds -:ﬂnL!i'i.!'u G kil , € g fgdﬂ‘n,rdmﬂ,g-@ 5
et | Badio waves \ i ] Whnch 15 an example of longitudingl waves?
15 - ) N ?dﬂgﬁ}‘%yﬁ‘#ﬁﬁhﬂrﬂﬂﬁi: 6
; A Which characteristic of a wave is independent of
Amplitude others? |
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: Hiow many basic operations of digital electronics are?
dx drf et (=i drad pIAd Wl A | s
Larger Smaller Megative Fositive | Ifthe objeci is on the right side of lens, then p is:
2 fein ) ,-iﬁ;s@h,; AL v PRy AL wats O 20T 10
Hm“r Wumber of | 1omic number | Atomic mass Isotopes are aloms of same element with different:
A=landB=1|A=Oand B=0 A=DandB=1|A=]and =0 -E-b!ﬂ-rﬂ I -!{u!TLfeé:rtLhﬁa;um 12 |
_| The output of a two input NOR gate is | when:
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( Part -1 thu.i.i )

10 Write short answers to any FIVE pars, el I 2
Define restoring force and write its formula, i a Afnidii, G
Diefine the pitch of sound. AT )
Provethat  v=T4 vald b (i)
For spherical mirror, define radius of curvature and focal length. -2 3 ALAF i 2L £ a Kb ()
Dhefine total internal reflection LA
Write the nudible sound frequency range. i P AT b (v
Deefline choctrosmagnetic #Jﬁiilh@g&;ﬂ! {wail
Wt iz bems Formals? Wikte i o F te il (il

I8  Write short answers to any FIVE parts. -ﬁuﬂﬁzﬁﬁr@lg&ﬂ&f -3
Define electric current, 'Wirite its 1 unit also, il s E oAl @

2 el e e AR S 2T a0
Hiow the potential differencs scross & cifcuil component i measunsd? [mw its dizpram,
‘i'a.,-fi,-m.jrl’ghﬁ’uf' “ua;f —guﬂfdr;ﬂ.-'!;ﬂriﬂ'! (i}

iDefine the term Bilowati-hour. How much Toules are inone kilowatt-hom?

NS (iv)
State the mubs o find the direction of mapnetic feld srowsd the current eammyving e
(v

EFPL Lo Sl T i)
i mssal indusction et the current in first ool bevormes seady. Wit gbouhad b5t
Wirne the nmes of Toar logic gabe. | ; .
Which logic gate is also called invener? Draw its gymib 4 _ e

Draw the circuit disgram of AND-gate. 150 W a1 -

10 Wrile short answers (o any FIVE par ' s

How & eapacites sores & charge? ik

T .ﬁrtiu'ﬂriﬁk (i)
'é“‘ inkir féﬁﬁfﬁfd i)
& bptltalale L AND (il
oA iy M s
et g s @

AP

State Cousboentrs kv and write formuls for finding forcs. TP Al % R TMOE A
What is the difference betwoem dats and information? e JASEELRE (v
What is mesnt by software? e slpife jsedt-  (v)
How light signals are sont through optical Tber? t S AL A BVEC R
What is mesnt by unstable nuclei? e B oirfd in
Define nuclear fusion. - AR A iy
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Part - I, Anempiany TWO questions. Each question carries 09 marks, |
o4 - donSLoftl ¢ Ir R I R TR at ARSI s
Define simple pendulum. Prove that motion of 2 simple pendulum is simple harmonic motion also
wirile down its time period equation.
05 - ErPUE R e b T A 006 (UL b PV re gES v G (L)
A capacitor holds 0. ﬂﬁ Coulombs :rl“-r:har,g: when fully charged hj’ a9 voli battery, Calculale

capacitance of the capacitor.
P82 (0 s

04 E: =olne Joun,
lectromagnetic induction and ex Ia n with example,
05 it 16em A2FRL AN et 6L 10.5em 2 BP0 0em L1 ()
il Bt WG 6

An object is 30cm tall located 10.5cm from a concave mirror with focal length |6em:

(i) Where is image located? (i) How high is it? it o 2
04  Define radiisotopes and write ite two uses. #dff_- Mlm.f.uﬂnéi_ﬁ/‘ﬁﬁ! irlphs () 7
05 I AEAF e i g/ VSAe L PP VAEBSHONL L ()

By applying a potential difference uﬂﬂl"ﬂ’ across a conductor, a current of 1.5A passes through it.
How much energy would be obtained from the current in 2 minutes?
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(1] c i B A Questions !'F o=y .:l!‘/:?
F 1 2 i el s ]uH @
‘! ‘ 5  The numbser of neutrons in Tritium ]‘H = |
; . . : ; ?quﬂﬁﬂwwﬁ?ﬁmiiﬁ ia)E| 2 |
During natural radisactivity, how many types of ‘
=2 mdllnlun:g,ﬁfmn:d? |
l JJIM 1 i e z,,;s Bl g}hﬂ_ﬁu.ﬂd‘; L “,L.EF-?J 3 |
!L Home of these & 1 \hT g b+ e of a certain isotope is E‘Jxﬁmﬁ AT
l i _ day. What is the quantity of the isotope after 2 i@]ﬁ“‘ |
b e AU AL Pt | 4 |
!‘ 3 3 The nmhhtml'mip@ﬂtnl components of Computer II '
. = ) Based lnformation System (CBIS) is: | {
‘ P = A g en. o
Irmeemor Transisine Amplifier Cocducior | NOT gule is also called: e
A s =k ulie ey JAEL D 6
Ampere Vol _ Wann Joule | 81 umit of electrie power is: 7 )
| 1 wsc | W 10 e B 7
l O miers Coulomb is egual io: : 1 |
NmiCc? Nm*C? Nm~2c? T 'i“"’f‘jl'-"ejf I"M?"'I 8 H
L 51 unit of Coulomb's constant k is: 7 ‘
5 r 3 2 , s kr| 9
A The types of spherical mirror are:
= % = n=CY n _E ‘ "f-mlf{ﬁklgiﬁ 1]
- ] V| Refractive index is equal to: *‘
e Filay FlpmieT | Feslerdi gmﬁ*aﬁnﬁw;ﬁﬁgﬂ{m_ﬂ AT
Hﬂl! be Fﬁﬂ _ Wil resmai I’ﬂdl’ Illﬁ";iﬁ (13 E;ﬁu:‘:;mg uf\flh‘ﬂ‘l:mg mass spring, when its
iz Jelie E g .
WE o' | Second/loule | Second Henz Ftiislt 2

The unit of time period is:
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( Part-1 U duas ) » |
Write shorl answers to any FIVE parts. --ﬂ@&tﬁfﬂﬁﬂz g E-Jf |
Deefing wave, LaAln W

Lebbedn e 0dm A a1 fﬁﬂgﬂmﬂfﬁﬂrﬂﬁ' (il

A wave moves on a slinky with frequency af 411z rmd ﬂmlmglh ol ldm. Find speed of wave.
Wy longitadinal waves meve fuster than irnsverse waves In solids? Tud b ggﬁgjggﬂuhrfpngﬁgmgﬁ i
Ll elinlbsi il d LU kel G

Wrise equation to find speed of sound and ndso wrile one fctor wiich ifects speed of sound.

What is sound? Flow it is produced? T,,;,ﬁl,J gl Te el )
[iTerentian: beiwoen contayve and conves mirror. Ijgﬁhﬂy'urﬁ'fu!;ﬁ ]
Define angle of incidence and angle of refmetin, it A ﬁdlM&.ﬂJr&l il
Wirile sign eonventions for lerses for focal bength. é’aﬂ;&m&é ¥ i iy
Writte shart answers to any FIVE paris. £n-s-}“ Lol 'g g
Why amemeler is connected in scries o measiuns curment in clreit? e Plig 8y o i £ fb;d;-'ﬂ:_{s i
Write names of ssurces of em, ,Eﬂftﬁf.rﬂ_ﬁﬁlﬁl (i}
Wirile twa featurcs of paralle] combination of resistors, .ig.,_&m,lgﬁ'ﬁ; e sl R 1)
Hew MOR gate 1= made? Teblibadadit (i)
Dirmw the symbol dingram of OF gate and write i Boolean expressian _gfuamﬁ.,ﬁ,radiﬁ_;,ruiufd;f T

Male the truth table for NAND gaie. e bR Lol ()
Write two wses of MBI in medical field. il Ml Lol K (i
‘ 2 ;. = J_;-ﬂ;'fa.r"“r—inll.ﬂﬂ:.vjfg{;;'} VR

Write short answers ta any FIVE parts. '::;i o il
Define Coulomby's law and wrile ils equation. .ﬁ-} el _.f.s.l_ali..r-JUJﬂu,fuf_ﬁLlﬂﬁi uff i
" o
N O S
Writs the formiala for the equivaben capacilancs fior & series eambanalion ol a rumber of @paciilors., .
Define Farsd, ~E e AlLA i
Wiite twa advintages of elecronic mail, AT ) o 7 R
What is the dilferemsee between data snd information? T%g}lg;ﬁﬁlﬁhﬂﬁ! iw)
M are light sigrads sent through optical fibers? tE e L AT i)
What is meant by background radiations? Testebe gL ALE i
What is mea by half life? T pble FU (viid)
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Part - I1, Attempt any TWO questions. Each question carvies 09 marks.

5":@%-1 E’iﬁddeH’iELﬂ -é-_iffbru‘fhﬂ )
Define loudness. On what factors does the lowdness depends? Explain, :
sfetisd Lol bl e bl Patipu Posova sty L PRI0V B ety Leac gl ()
A ﬁm charge of +2C is transferred from a point at potential |00V to a point ot potential 50, :
What would be the energy supplied by the charge?
What is transformer? Explain its working, ,@ﬁ ot g 1 :,J" fﬁr. T%tﬂbffgl.la"iﬁ {uili}
Al

g pPerr P Ble iy Wbl 12eme 1o Sem fﬁff’%ﬁmﬁw@’f_ﬁ ()

An othject 4cm high is placed af a distance of 12em fram u convex lens of fscal length Bem.
Caleulate the position and size of image.

é'uﬂu&u&bsgwﬂﬁ;ﬂu VLW T U{Uagi"i;amur; Ighor T .ﬁfk{n u’gﬂﬁmuﬁﬁﬂ (il
What is meant by nuclear fission renction? With the help of equation Eu,pl.njn about the energy
released in each Mission eveni.

Giella ) Fwdbusd ov ALt e the 3 /a1 im0 4 60 (L)

f O\ P AN Y o WY ( WV P
Two resistances of G() and | 2k() are connected in parallel. A 6V battery is connected across its
ends. Find the values of following quantities:
(i} Equivalent resistance of parallel combination (i) Current passing through each of the resistance.
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